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short wooden posts and a spring. If each of the posts has an

The rigid bar is supported by the two
unloaded length of 500 mm and a cross-
k=1.8MN/m and an unstretched length of 52
after the load is applied to the bar.

(E,~11 GPa) (25%)

sectional area of 800 mm?, and the spring has a stiffness of
0 mm, determine the vertical displacement of A and B
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The bean is made from three boards bonded with glue and is subjected to the loading shown in the
figure.

(a) Draw the shear and bending diagrams (10%)

(b) Determine the maximum the stress occurred in the beam (5%) :

(c) Determine the required strength of the glue to avoid the failure of the interface. (A safety factor

of 1.2 is assumed in this case) (10%)
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